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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 12186 3.7 1.8 7 52.6 99.7
2 12213 4.8 1.1 6 80.1 100
3 11559 0.4 0.8 4 11.2 94.6
4 11803 2.4 1.5 4 60.8 96.6
5 11906 1.7 1.5 4 43.6 97.5
6 12140 7.3 2.5 10 73.1 99.4
7 11789 1.3 1.3 3 43.2 96.5
8 10981 0.8 0.9 3 26.7 89.9
9 12099 3.8 2.1 8 47 99

10 9620 0.6 1.3 5 12.3 78.7
11 11163 2.6 2.1 5 51.3 91.4

12a 10878 1.5 1.6 4 37.1 89
12b 11085 0 0.2 2 2.3 90.7
13a 10935 0.4 0.6 2 17.7 89.5
13b 11210 0.7 0.5 1 66.1 91.8
13c 10638 0.3 0.6 2 14 87.1
14 11748 1.2 1.3 5 24.5 96.2
15 10259 0.6 0.9 3 20.5 84
16 11413 1.6 1.7 7 23 93.4
17 10330 1.6 2 5 32.9 84.5
18 11805 0.9 1.5 6 15.8 96.6
19 11685 0.5 1.2 4 12.2 95.6

52.6 80.1 11.2 60.8 43.6 73.1 43.2 26.7 47 12.3 51.3 37.1 2.3 17.7 66.1 14 24.5 20.5 23 32.9 15.8 12.2 
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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5.	 The pie charts show the proportion of boys to girls in class A and class B.

	 There are more pupils in class B than in class A.

	 There are 4 boys in class A.

	 There are 1     times as many girls in class B than in class A.

	 How many boys are there in class B?	 [4]

	

	

	

	

	

	

	

	

1
2

Class A

Boys

Girls

Boys

Girls

Class B



Question 5



Question 5

Sticky Note
A correct response. Awarded 4 marks.



 Question 5



 Question 5

Sticky Note
Incorrect interpretation as one-third of the pie chart is boys, so 18 girls is represented by two-thirds of the pie chart. It should be 18 girls is 1/3, not 1/3 of 18 here. 

Sticky Note
B1 for 12 (girls)
B1 for 18 (girls)
No further marks. 

Sticky Note
The candidate probably does mean 18 girls in Class B.

Sticky Note
Not labelled 'boys' or 'girls'. This can lead to later confusion. 
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9.	 Amelia regularly buys bird food to place on her bird table.
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	 (a)	 The winter mix bird food contains buckwheat, millet and sunflower seeds.
		  For every 2 g of buckwheat there are 3 g of millet and 5 g of sunflower seeds.
		  How much millet is there in an 850 g bag of winter mix bird food?	 [2]

	

	

	

	

	

	 (b)	 You will be assessed on the quality of your written communication in this part of the 
question.

		  The summer mix bird food is sold in different sized bags.
		  The sizes of the bags and the prices are shown below.

Size Price

250 g 49p

300 g 54p

4 kg £7.60

		  Amelia bought exactly 5 kg of the summer mix bird food.
		  She found the cheapest option for buying the bird food.

		  How much did Amelia pay for the bird food?
		  You must show how many bags of each size Amelia bought.
		  You must show all your working.	 [6]



Question 9b



Question 9b

Sticky Note
B1 awarded for one correct costing of 5kg.
S0
M0
A0
QWC1  As there is insufficient communication relevant to the requirement of comparison, calculations are better if given in digit form with mathematical notation, however units are generally correct and spelling is generally accurate.
Total of 2 marks awarded

Sticky Note
This candidate has not engaged with the idea of best value based on unit cost, and no further options are considered.

Sticky Note
Only one combination considered and costed.

Sticky Note
Writing calculations in wording distracts from the quality of the presentation

Sticky Note
Idea corrected

Sticky Note
Number of bags, not g



Question 9b



Question 9b

Sticky Note
B1 for a correct costing.
S1 for considering 10 or more 300g bags
M1 for 15 bags options
A1 for cost cheapest option
QWC2 as it was communicated based on comparison

Sticky Note
Actually the cheaper of the options is considered, but not a holistic strategy.  Not justified by considering the best value per unit cost.  
Or had this been considered mentally?
Although fairly clearly communicated, had the cheaper unit price bag been considered?


Sticky Note
Option of 4 x 250g + 1 x 4kg bags considered.
£7.60 was included in this calculation

Sticky Note
  £7.60



Question 9b



Question 9b

Sticky Note
No unit cost considered, a strategy of finding different combinations, but not actually convincing that all options have been considered.  However, 300g bags are the best value and the buying of this size has been maximised.
B1, S1, M1, A1
QWC2  A minimal example of the award of both QWC marks.

Sticky Note
Three options considered.

willir
Sticky Note
Cheapest option selected, but how does the candidate know this is the cheapest possible option?
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13. (a)	 The diagram shows a semicircle joined to a square.
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8 cm

Diagram not drawn to scale

		 Calculate the total area of the shaded shape, leaving your answer in terms of π.	 [2]



Question 13a



Question 13a

Sticky Note
No marks awarded in this question.

Sticky Note
Adding on the area of a full circle, should be a semi-circle and should also be in terms of pi

Sticky Note
Area of the square

willir
Sticky Note
Correct formula for the area of a circle, with a correct radius.
However, a semi circle is shown, so there needs to be evidence of halving.



Question 13a



Question 13a

Sticky Note
The only error in this work is the incorrect decision regarding the radius, hence 1 mark out of the 2 available is awarded.

Sticky Note
Semi-circular area is considered, but with an incorrect radius

Sticky Note
Radius should be 4cm, not 8cm

Sticky Note
Correct area of the square
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	 (c)	 Evaluate                  , giving your answer in standard form.	 [2]4·5 10
9 10

8

12
×

×



Question 13 c



Question 13 c

Sticky Note
1 mark is awarded as the division is accurate, but not in standard form as required.

Sticky Note
4.5 divided by 9 is 0.5

Sticky Note
Correct division

Sticky Note
Form for standard form needs to be considered, as the correct division does not give the answer in the required format



 Question 13c



 Question 13c

Sticky Note
No marks are awarded for this response.

Sticky Note
Is this incorrect division from considering 9/45 as 1/5 which is 0.2.  That is the division inverted?

Sticky Note
Correct for the division of powers of ten
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Higher Tier  
Marks Comments 


5. Class A has 12 girls


Class B has 18 girls 


There are twice as many girls as boys in class B, 


or ⅓ of class B boys, or ⅔ of class B girls 


Class B has 9 boys 


B1 


B1 


B1 


B1 


FT 1½ × ‘their 12’ correctly evaluated (but NOT 1½ × 4) 


Sight of 18 implies first B1, B1 


OR Class B: Angle girls 240°±2° and angle boys 120°±2° 


This may be implied from their numbers of girls and boys 


in class B 


Note: ⅓ of 18 does not imply ⅓ of class B boys, hence B0 


 ‘18 is ⅔’, implies B1 


CAO 








© WJEC CBAC Ltd. 


9 


Summer 2014 Paper 1 


Higher Tier  
Marks Comments 


9(b)Attempt to find unit cost e.g. for 1kg  


(For the 250g bag, 1kg costs) £1.96 


(For the 300g bag, 1kg costs) £1.80 


(For the 4kg bag, 1kg costs) £1.90 


 


Considering buying 10 or more 300g bags 


 


 


 


 


 


 


 


 


 Working with or choice of 15 of the 300g bags, or 


 5000÷300 with an answer of  16(.666…), 17 or 16, or  


 trials including 15 or 16 or 17 of the 300g bags 


 


(Cheapest way to buy 5kg is 


15 (300g bags) at 54(p) +  2 (250g bag) at 49(p) 


                  =    (£)8(.)10 + 98(p)  ) 


                                                                     = (£)9(.)08 


Look for  


 correct units used 


 spelling in at least 1 statement/sentence 


 clarity of text explanations 


 clearly linking working with size of bag 


 


QWC2: Candidates will be expected to 


 present work clearly, with words or quantities 


shown for clarity of process or steps 


AND 


 make few if any mistakes in mathematical form, 


spelling, punctuation and grammar in their 


answer 


 


QWC1: Candidates will be expected to 


 present work clearly, with words or quantities 


shown for clarity of process or steps 


OR 


 make few if any mistakes in mathematical form, 


spelling, punctuation and grammar in their 


answer 


B1 


 


 


 


 


S1 


 


 


 


 


 


 


 
 


M1 


 


 


 


A1 


 


 


 


 


 


 


 


 


 


 


 


 


 


QWC 


2 


 


 


 


 


 


 


 


OR for one correct costing for 5kg  


e.g. (£)7(.)60 + 4×49(p) = (£)9(.)56 


OR At least 2 combinations of bags to a total of 5kg 


 


 


OR any 2 correct costings for buying 5kg  


OR stating any 3 possible combinations of bags to 5kg 
250g 300g 4kg Cost £ 


4 0 1 1.96 +7.60 = 9.56 
20 0 0 9.80 
14 5 0 6.86 + 2.70 = 9.56 
8 10 0 3.92 + 5.40 = 9.32 
2 15 0 0.98 + 8.10 = 9.08 


 
OR equivalent, e.g. repeated additions or multiples, 


 


 


 


 


 


 


 


QWC2 Presents relevant material in a coherent and logical 


manner, using 


acceptable mathematical form, and with few if any errors in 


spelling, punctuation and grammar. 


 


QWC1 Presents relevant material in a coherent and logical 


manner but with some errors in use of mathematical form, 


spelling, punctuation or grammar  


OR 


evident weaknesses in organisation of material but using 


acceptable mathematical form, with few if any errors in 


spelling, punctuation and grammar. 


 


QWC0 Evident weaknesses in organisation of material, and 


errors in use of mathematical form, spelling, punctuation or 


grammar. 
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Marks Comments 


13(a) 8×8 + ½× π×42 


 64 + 8π    OR   8 (8 + π)  (cm2) 


M1 


A1 


Accept with a value inserted for π 


ISW.  Must be an expression in terms of π 


If no marks, SC1 for final answer: 


 use of radius 8 giving 64 + 32π, or


 full circle included giving 64 + 16π
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Higher Tier  
Marks Comments 


13(c) 5 × 10-5 B2 B1 for 0.00005 or 0.5 × 10-4 or 0.05 × 10-3 or similar form 
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	13a: 
	13c: 


